WELCOME





ABOUT US





Our Company is an exciting "Your Business". A Business that has the potential to turn. your dreams into reality. as you build your business, you will establish life long friendships and develop support.

VP systems unparalleled in any other business The mission of the company is to provide best services & spreading awareness to each and everyone in the cities/Towns/village of the country.

MISSION VISION



VISION



"Life Without Poverty." Changing The Quality Of Life Who Is Associated With Us. Helping Millions Of People To Become Free Entrepreneur & Financial Free To Secure Future Life.

MISSION



Mission of Big Earnings is to provide best business solutions with the low investment – High returns.

EASILY PROCESS





REGISTRATION





TOPUP AMOUNT

400/-







Product





T SHIRT MRP - 400/-



T SHIRT MRP - 400/-



stayslife.com

AFFILIATE BONUS



Level	Member	income	Total Profit
1	4	100/-	400/-
2	16	10/-	160/-
3	64	10/-	640/-
4	256	10/-	2560/-
5	1024	10/-	10240/-
6	4096	10/-	40960/-
7	16384	10/-	163840/-
8	65536	10/-	655360/-
11.6			



AFFILIATE BONUS





Level	Member	income	Total Profit
9	262144	10/-	2621440/-
10	10,48,576	10/-	10485760/-
11	41,94,304	10/-	41943040/-
12	16777216	10/-	167772160/-
13	67108864	10/-	671088640/-
14	268435456	10/-	2684354560/-
15	1073741824	10/-	10737418240/-

TERMS & CONDITIONS



- ❖ REGISTRATION FREE , ACTIVATION AMOUNT IS 400/-
- **❖** MINIMUM WITHDRAWL AMOUNT 500/-
- ❖ 5% ADMIN CHARGE DEDUCTION.
- ❖ 5% TDS FOR ALL WITHDRAWAL.

THANK YOU

STAYS LIFE

101, SD Tower, Kolkata, Pincode-

700101

Contact: +91 8972241768

Email: Support@stayslife.com

